
Test 9

1) X-16=42
Test 10

X = 42 + 16
9) ±25 1) 52 + 122 = H2

X = 58
10) ±8 25+144=H2

2) (58) -16 = 42
11) -(3 x 3) = -9 169 = H2

42=42 12) 1 x 1 xl = .1
13 in. = H

3) -X+4=-2X-·6
2 2 2 8 2) 122 + 162 = 202

-X + 2X = -6 - 4 13) 1..-.1= JL..-.1.- = 8 ..-4 - 2
144 + 256 = 400

X = -10 4 8 32 32 1- 400 = 400; yes

4) -(-10)+4=-2(-10)-6 14) £..-.l=..1~~_4..-3_4 3) L2+92=152

10+4=20-6
326·6- 1 -"3 L2+81 =225

14 = 14 15) ~ ..-~ = 20 ..-36 = 20..- 36 _ 20 _ 5
L2=225-81

5) 4R - 4 = 3R + 10
12 4 48 48 1 - 36 - 9 L2 = 144

4R - 3R = 10 + 4 16) §. x§.= 30 = 1
L = 12

R = 14 6 5 30 4) 52+102=152

6) 4(14) -4 =3(14) + 10 17) E.x_1 =E.=1 25 + 100 = 225

56 - 4 = 42 + 10 1 32 32

52=52 18) 1 x ~ =]. = 1
125 *225; no

7) 2Y - 3 = Y - 4 919
5) A-7=-13

2Y - Y = -4 + 3 19) 2X+15=37-2
A=-13+7

Y =-1 2X=35-15
A =-6

8) 2(-1)-3=(-1)-4 2X=20
6) (-6) - 7 = -13

-2 - 3 =-5 X= 10
-13 = -13

-5 =-5 20) 10.;- 5 = 2 7) 1OX- 8 = 9X + 8

2x2=4
10X -9X =8 + 8
X = 16

8) 10(16) - 8 = 9(16) + 8
160-8=144+8
152 = 152

9) ±X

10) (-8)(-8)=64

1 1 1 111) -x-x-=-
2 2 2 8

12) ± ~

3.133,6 9
13) 8"~6= .8"/1"="4
14) §....-.l=§.x..1=20

9 4 9 1 9

15) ..1..-~ = ..1x& =.i
5 5 /J 3 3

16) 4+10=14

17) 358.01

18) 32+42=H2
9 + 16= H2
25= H2
5mi.=H

19) -2 x 6 = -12 ft.

20) 2X+5=X-5
2X - X =-5 - 5
X=-10
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